
1

2

3

2108 290 4185 

2110 341 4056 

2110 341 4057 

Ball Joint 

Tie Rod End 

Tie Rod End 

th:M12x1.25 RHT   cs:Ø13  

c:Ø12,65 th:FM18x1,5 LHT 

c:Ø12,65 th:FM18x1,5 LHT 

10LD1500 

17LD2000 

17LD2001 

1

2

3

4

5

6

2101 2904192 

2101 2904192 

2101 3003057 

2101 3003050 

2101-3003064 

2101 300 3011 

Ball Joint Upper 

Ball Joint Upper 

Tie Rod End 

Tie Rod End 

Tie Rod End 

Center Rod 

th:M14x1.5 RHT  cp:1/8 cs:Ø14,7  

th:M14x1.5 RHT  cp:1/8 cs:Ø14,75  

c:Ø14,65 th:MM16x1 RHT 

c:Ø14,65 th:MM16x1 LHT 

c:Ø14,65 th:MM16x1 LHT 

th1:M14x1.5 RHT   

10LD0400 

10LD0500 

17LD0500 

17LD1030 

17LD1050 

22LD1070 

17LD0500 17LD0500

17LD1050

10LD050010LD050010LD0400

22LD1070

17LD1030

10LD0400

17LD2001 17LD2000

10LD150010LD1500



1 2108 290 4185Ball Joint th:M12x1.25 RHT   cs:Ø13 10LD1500

10LD150010LD1500

1 2108 290 4185Ball Joint th:M12x1.25 RHT   cs:Ø13 10LD1500

10LD150010LD1500



1

2

3

4

5

2101 2904192 

2101 2904192 

2101 3003057 

2101 3003050 

2101-3003064 

Ball Joint Upper 

Ball Joint Upper 

Tie Rod End 

Tie Rod End 

Tie Rod End 

th:M14x1.5 RHT  cp:1/8 cs:Ø14,7  

th:M14x1.5 RHT  cp:1/8 cs:Ø14,75  

c:Ø14,65 th:MM16x1 RHT 

c:Ø14,65 th:MM16x1 LHT 

c:Ø14,65 th:MM16x1 LHT 

10LD0400 

10LD0500 

17LD0500 

17LD1030 

17LD1050 

1

2

3

4

2101 2904192 

2101 2904192 

2101 3003057 

2101 3414116 

Ball Joint Upper 

Ball Joint Upper 

Tie Rod End 

Tie Rod End 

th:M14x1.5 RHT  cp:1/8 cs:Ø14,7  

th:M14x1.5 RHT  cp:1/8 cs:Ø14,75  

c:Ø14,65 th:MM16x1 RHT 

c:Ø14,65 th:MM16x1 LHT 

10LD0400 

10LD0500 

17LD0500 

17LD0501 

17LD0500 17LD0500

17LD0501

10LD050010LD050010LD0400 10LD0400

17LD0501

17LD0500 17LD0500

17LD1050

10LD050010LD050010LD0400

17LD1030

10LD0400



1

2

3

4

5

2101 2904192 

2101 2904192 

2101 3003057 

2101 3414116 

2101 300 3011 

Ball Joint Upper 

Ball Joint Upper 

Tie Rod End 

Tie Rod End 

Center Rod 

th:M14x1.5 RHT  cp:1/8 cs:Ø14,7  

th:M14x1.5 RHT  cp:1/8 cs:Ø14,75  

c:Ø14,65 th:MM16x1 RHT 

c:Ø14,65 th:MM16x1 LHT 

th1:M14x1.5 RHT  L:561mm 

10LD0400 

10LD0500 

17LD0500 

17LD0501 

22LD1070 

17LD0500 17LD0500

17LD050117LD0501

10LD050010LD050010LD0400

22LD1070

10LD0400



1 2108 290 4185Ball Joint th:M12x1.25 RHT   cs:Ø13 10LD1500

10LD150010LD1500

1

2

3

4

5

2101 2904192 

2101 2904192 

2101 3003057 

2101 3003050 

2101-3003064 

Ball Joint Upper 

Ball Joint Upper 

Tie Rod End 

Tie Rod End 

Tie Rod End 

th:M14x1.5 RHT  cp:1/8 cs:Ø14,7  

th:M14x1.5 RHT  cp:1/8 cs:Ø14,75  

c:Ø14,65 th:MM16x1 RHT 

c:Ø14,65 th:MM16x1 LHT 

c:Ø14,65 th:MM16x1 LHT 

10LD0400 

10LD0500 

17LD0500 

17LD1030 

17LD1050 

17LD0500 17LD0500

17LD1050

10LD050010LD050010LD0400

17LD1030

10LD0400



1

2

3

4

5

2101 2904192 

2101 2904192 

2101 3003057 

2101 3003050 

2101-3003064 

Ball Joint Upper 

Ball Joint Upper 

Tie Rod End 

Tie Rod End 

Tie Rod End 

th:M14x1.5 RHT  cp:1/8 cs:Ø14,7  

th:M14x1.5 RHT  cp:1/8 cs:Ø14,75  

c:Ø14,65 th:MM16x1 RHT 

c:Ø14,65 th:MM16x1 LHT 

c:Ø14,65 th:MM16x1 LHT 

10LD0400 

10LD0500 

17LD0500 

17LD1030 

17LD1050 

17LD0500 17LD0500

17LD1050

10LD050010LD050010LD0400

17LD1030

10LD0400

1 2108 290 4185Ball Joint th:M12x1.25 RHT   cs:Ø13 10LD1500

10LD150010LD1500



LADA

SAMARA (2108, 2109, 2115, 2113, 2114)
SAMARA Hatchback (2113, 2114, 2115)

01 / 1986  -  12 / 2013

SAMARA FORMA Saloon (21099, 2115)
SAMARA Saloon (21099, 2115)
SAGONA Saloon (21099, 2115)
DIVA Saloon (21099, 2115)

01 / 1987  -  12 / 2012
01 / 1987  -  12 / 2012
01 / 1987  -  12 / 2012
01 / 1987  -  12 / 2012

SAMARA

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

2108 290 4185 

2101 3003050 

2101-3003064 

2108-3414056 

2108-3414057 

2121 3414011 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Tie Rod End Right 

Tie Rod End Left 

Center Rod 

th:M12x1.25 RHT   cs:Ø13  

c:Ø14,65 th:MM16x1 LHT 

c:Ø14,65 th:MM16x1 LHT 

c:Ø12,55 th:MM18x1,5 LHT 

c:Ø12,55 th:MM18x1,5 LHT 

th1:M14x1.5 RHT  L:561mm 

10LD1500 

17LD1030 

17LD1050 

17LD1530 

17LD1550 

22LD0570 

3

4

6

5

2

1

17LD1050

22LD0570

17LD153017LD1550

10LD150010LD1500

17LD1030

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 2108 290 4185Ball Joint th:M12x1.25 RHT   cs:Ø13 10LD1500

1

10LD150010LD1500



LADA
TAIGA

TAIGA Closed Off-Road Vehicle (2121, 2131) 12 / 1976  -->

-
-

-
-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

2101 2904192 

2101 2904192 

2101 3003057 

2101 3414116 

2101 300 3011 

Ball Joint Upper 

Ball Joint Upper 

Tie Rod End 

Tie Rod End 

Center Rod 

th:M14x1.5 RHT  cp:1/8 cs:Ø14,7  

th:M14x1.5 RHT  cp:1/8 cs:Ø14,75  

c:Ø14,65 th:MM16x1 RHT 

c:Ø14,65 th:MM16x1 LHT 

th1:M14x1.5 RHT  L:561mm 

10LD0400 

10LD0500 

17LD0500 

17LD0501 

22LD1070 

UPPER

44

1

3

5

2

17LD0500 17LD0500

17LD050117LD0501

10LD050010LD050010LD0400

22LD1070

1

10LD0400



LADA
TOSCANA

TOSCANA (2107) 01 / 1987  -  12 / 2012

VEGA

VEGA (2110) 05 / 1995  -  01 / 2012

-
-

-
-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 2108 290 4185Ball Joint th:M12x1.25 RHT   cs:Ø13 10LD1500

1

10LD150010LD1500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

2108 290 4185 

2110 341 4056 

2110 341 4057 

Ball Joint 

Tie Rod End 

Tie Rod End 

th:M12x1.25 RHT   cs:Ø13 10LD1500 

17LD2000 

17LD2001 

17LD2001 17LD2000

10LD150010LD1500

3

1

2



LADA

ZHIGULI
ZHIGULI Estate

01 / 1970  -  12 / 1988

ZHIGULI

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

2101 2904192 

2101 2904192 

2101 3003057 

2101 3003050 

2101-3003064 

2101 300 3011 

Ball Joint Upper 

Ball Joint Upper 

Tie Rod End 

Tie Rod End 

Tie Rod End 

Center Rod 

th:M14x1.5 RHT  cp:1/8 cs:Ø14,7  

th:M14x1.5 RHT  cp:1/8 cs:Ø14,75  

c:Ø14,65 th:MM16x1 RHT 

c:Ø14,65 th:MM16x1 LHT 

c:Ø14,65 th:MM16x1 LHT 

th1:M14x1.5 RHT   

10LD0400 

10LD0500 

17LD0500 

17LD1030 

17LD1050 

22LD1070 

UPPER

5 4

1

3

6

2

17LD0500 17LD0500

17LD1050

10LD050010LD050010LD0400

22LD1070

17LD1030

1

10LD0400


